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PERCENTAGE Work Sheet

Percentage
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1.1

In mathematics, a percentage is a number or ratio expressed as a fraction of 100. It

is often denoted using the percent sign, "%"
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1. A Percent = a% = -
100

2. a% of b= -2 «xb= b% of a
100

3. Percentage Increase (or) decrease

1. It the price of a commodity increases by R%, then the reduction in
consumption so as not to increase the expenditure is

{(moR 5 xlOO}%
+

It the price of a commodity decreases by R%, then the increase in
consumption so as not to decrease the expenditure is

{(lOOR R xlOO} %

2. Results on Population: Let the population of a town be > now and suppose it
increases at the rate of R% per annum, then:

1. Population after n years = P(1+ ij

100
P

l+i
[ 100)

3. Results on Depreciation : Let the present value of a machine be P. Suppose it
depreciates at the rate of R% per annum. Then:

2. Population n years ago =

1. Value of the machine after n years = P (

2. Value of the machine n years age =

4. If A is R% more than B, then B is less than A by
S !
| (100+R) |
If A is R% less than B, then B is more than A by
R X
| (100-R)

x100 |%

100 (%
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Level I

1.

Convert % to percent

a.175% b.17.5% c. 1.75% d. 140%

Convert 28 % % to fraction
2
z 3

a. = b. 47

Covert 30 % % to fraction

a > b =t
10 500

35% of 35
3560 35% gFHaiFHID 6T
a.1.125 b. 1.225 c. 0.1225 d.12.25

Anbu scored 436 marks out of 500 in his exams. what was the percentage he
scored?

o6t eteeuT 500 H@& 436 e1(bSHBlenentT, elefed Siaufler AU FHaiHld

a. 83.2% b. 82.2% c. 8.32% d. None of these

There are 50 students in a a class. If 14% are absent on a particular day, find
the number of students present in the class.

aGLled o effem 50 TewaITHemey, @b GUILL prefed 14% gseisd Gui
aHMS Lflweledenev, elefled SibBHTee0 aumend LfhHeauTseler erewrenildemsm

a. 36 b. 86 c.7 d. 43

A family cleans a house for pongal celebration by dividing the work in the

ratio 1:2:3. Express each portion of work as percentage.

@ GOLUD CuUTRIEEL alpTalBsTE il L FsHdHD CFuiusBd Gsaumevenus 1 : 2
3 el lBHHHFHev LFHTHEH OCsTewiLenT  eleiew, Geuemevulalt  gelGlEUT(H

UGHDWUID FHAHLOTEH BHT6HIb.

a. 3% %, 1624%, 50% b. 1624%, 331/ %, 50%

C. 16%%, 33%%, 50% d. 16%%, 33%%, 50%

What percentage of a day is 10 hours?
@@ BreMled 10 1ewll GBI 6ITLUSHT FHATHLID.
a. 86% b. 43 24 % c. 41.67% d. 40.25%
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(APP&S LD]

Divide Rs. 350 among P, Q, R such that P gets 50% of what Q gets and Q gets
50% of what R gets?

R eteirs pumT GQupeuglsd 50% o2 Q e pUBD, Q GQuueugdled 50% g P erenys
pLUGD Gupiorsl P, Q, R eieiis epeii puTaendE fldsab. (RS)

a. R=200; P=50Q =100 b.R=200,P =75, Q=125

c. R=100, P =200,Q =50 d. R =100, P =50; Q=200

What rate percent is 2 minutes to an hour?
1 wenll GBrHFHeL 2 HIOLMISH6T 6IGTLUSH FHATHLD
a.l%% b. 4% c.3%%

48 is 32% of what number?
@ erewienient 32% eailgl 48 eiailed Db 6T6W 6T6wTe0?
a. 66 2 b. 150 c. 66 24 % d. 150%

If Q% of Qis 676 Then find Q
Qar Q% syeiz 676 aiailed Q &1 WAL
a. 2600 b. 67600 c. 260 d. 65

63% of 7% is

7% ®60 63% eILSI
a.4.3 b. 4.5

66 % % of 50% of 27 is equal to
27 &t 50% &1 66 24 % & wgy
a.6 b. 12 c.3 d.9

If 75% of a number is added to 75, then the result is the number Itself. The
number is.

@ olewiewient 75% o Ler 75 m gl GBurd 218k eewt e SIBSHI  elaileD
OIbPH 61601 61601601 7

a. 50 b. 60 c. 300 d. 400

Level I1

16. A student secures 90%, 60% and 54% marks in test papers with 100, 150, 200
respectively as maximum marks. The percentage of his aggregate is
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(APP&S LD]

CHENNAI

o wreweuest 100, 150, 200 & oiFs uls wHICUeHTE CaTewi  CxhiTaled
wenmBw 90%, 60%, 54% QupprT eeied Seufler GoTsHs BHTFS Fhaimld ereren?
a. 68 b. 64 c.70 d. none of these

A scored 30% marks and failed by 15 marks. B scored 40% marks and obtained
35 marks more than those required to pass. The pass percentage is:

A aeaaut 30% wHICUemEEH6T eiBHBleTemTT 15  HliGLemenTed BHTe0aUWIBBITT.
B aeueut 40% Oumm, GxTFdf Gumpid wHiGuesienemt e 35  AICLIITS6T
OIFHHTE GuBDIeTeTT 6oy CaTEFS FHaiHLD?

a. 33% b. 38% c. 43% d. 46%

If the difference between 75% of a number and 60% of the same number is
82.5, then find 20% of the number.

@ eremtenflest 75% S 2I8s elewienienr 60% HFHD Bew Cuwi o siten alGHHWTFID
82.5 eafled obdH erewtamienr 20% £ Hrew.

a. 550 b. 330 c. 110 d. 165

Level of water in a tank is increased to 50 litres from 35 litres in 2 minutes

what is the percentage of increase?
@ GFHTIguiled Hewiewimer Siene] 2 HIOLSHFH60 35 edLfled mpba 50 edlLgrs
P FMHHBHI 6Tele0, DIHBMHH Hewrewimedl FHaiHD 6T6s16017

3

a. 28;% b. 427% C. 422% d.15%

Lalitha took a math test and got 35 correct and 10 incorrect answers. What was

the percentage of correct answers?

VAT  6TETLIONT STl  6IRHW  h HemIHCHTaled 35 gflwmenr uHlevsEHD, 10
SHAUBTRT LIFH60H@HLD 6TRHITT 6lealled, SiauT jeldHg gflwmear uFHleoseller FHaigsb
616016017

a. 28;% b. 713% C. 77%% d. 40%

A metal bar weighs 8.5 kg. 85% of the bar is silver. How many kilograms of
silver are in the bar?

8.5 &.& el Osmewi @T 2 Gooras ulemLuled 85% Geuelell eailed ©IFH60
o oo Geuetariulledr eTemL ?

a.7.125 kg b.7.225 kg c.7.325 kg d. 7425 kg

A tank can hold 200 litres of water. At present, it is only 40 % full. How many
litres of water to fill in the tank, so that itis 75 % full?
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m  Hewiewit QFHTliguien Osmeenene 200 eIl LTseT Su@Wb. SBOUTH iF60
40% sewewfT Birbueengl. eafed 75% sewieniT P60  HevpuGaiei(BoLeNe0
B TemIlD 61HHemeT 0L L TH6lT HewieniT ChHemeuliLipLd?

a. 105 b. 70 c. 35 d. 25

The value of a machine depreciates at 10% per year. If the present value is X
1,62,000, what is the worth of the machine after two years.

R  BupArsdHear  HBGuTemsdw AU p 162,000 @eGeurm  DLEWIBHSLD
oeialwbsrsger wHy 10% Gopsps  aald GG  omIbseT  HHHI
SiINWbHATHSHG LS| 61657601

a. 113220 b. 14580 c. 131220 d. 129600

If the first number is 20% less than the second number and the second number
is 25% more than 100, then find the first number.

(PH60O 616WT Y1H BTewiLmid eewienewial  20% Gevmey. BJ6UILMD 6T6e%T LIS
100 & ol 25% 91H56Wweled (LPHed 616w 61636 ?

a. 540 b. 100 c. 200 d. None of these

A spider climbed 62% % of the height of the pole in one hour and in the next

hour it covered 12 %% of the remaining height. If the height of the pole is 192

m, then distance climbed in second hour is :

QM FeubHWTIH @(H SOUSHET o wFsHHed 62 %% FHAIHHMSH @H L6
Cpisdsd guib SBss o® el CrysHn Wsusien o wsdd 121 % gpub.
sbusbHer o wgd 192 15, erefled FevbgHwimens 26uzk ewil CHIHH0 6T6laI6NT6)

2w gl BksGn?
a.3m b.5m c.7m d.9m

If the price of petorl is increased by 30%, by how much percent a car owner
must reduce his consumption in order to maintain the same budget?

QU Gymedest alewev 30% oFHsfdbsiiubdng. srier o Mevwwrent 8% GFevalsd
QUL Ggremev GHTLY Gouewi(Bld eleriled o LIGWTHSHH6D 6l6laIeT6| GHMBHHIDH OFHTeien
Gouewr(hLd?

a.21% b. 211% C. 23i% d. 33%
3 13

Level - II1

27.  An alloy consists of 30% copper and 40% Zinc, and the remaining is nickel.
find the amount of nickel in 20 kilograms of the alloy.
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(APP& 10|

CHENNAI

@ 2 Gours seveneuuled 30% a&miumbd 40% rid-1b 2 _eTengl.  BH(Ip6iTeTenel
HoHHe0 GD. 20 HF 2 BeoTsdHHe0meluled HleHEHelT 6TenL 616116667

a.8 kg b.12 kg c. 14 kg d. 6 kg

How much pure alcohol has to be added to 400 ml of a solution containing
15% alcohol to change the concentration of alcohol in the mixture to 32%?

400 el o eiten  seveweuuled 15% gevmamTL o sitengl.  BFHemenr  32%
SLEVHABTEL 2 6IT6M  HeLVEMGUWITS  OTMM  6T6leU6Tey HTU  HLHBTNe0 CFTHD
Geuemt(BLD.

a. 60 ml b. 68 ml c. 100 ml d. 128 ml

One type of liquid contains 20% water and the second type of liquid contains
35% of water. A glass is filled with 10 parts of first liquid and 4 parts of second
liquid. The percentage of water in the new mixture in the glass is:

WH0 amd HausHed 20% BT 2 eengl. @IWILTD eauedd Hyoudhdev 35% i
® 6ieNgl. @h Gouemenuiled (IpHe0 Ggeud 10 URIGLD, SF6WILAD HJeud 4 UG
Cameni(bld HFiULILGHBEH. CLTHHD DB Geuemenuled 2 _eienm BHT FHAIHLD

a. 20% b. 245% c. 37% d. 40%

Amit's monthly income is 30% more than that of Raunaq. Raunaq's monthly
income is 20% less than that of Deepak. If the difference between the monthly
incomes of Amit and Deepak is Rs. 800, what is the monthly income of
Raunaq?

oIflg eaeileufle oTHaUpOTEND Jemmd  eleualeny ol 30% oiHsbd.  Fems
aretUeufledr ITHeUHIOTEND FHUdb eaiLaiemy ol 20% Gmey. Hub OBBID DIOG-6T
LOTS  U(HLOTETSHSH 6 alHHWTFID ¢F 800 6lelled Jeuimds - 6T LOTHEU(HLOTEILD

a. Rs. 12,000 b. Rs. 16,000 c. Data inadequate d. None of these

From a container having pure milk, 20% is replaced by water and the process
is repeated thrice. At the end of the third operation, the milk is:

QMH UTSATID (pIpau Id Hmul umed o eitengl. oiFev 20% umemev GeuefGui 61BSHS!
963 SeMeydh@ BITEL HILUIUGHBEH. b OCFWeO(IpmB GLOTHSHOTS 3 (Pewym
HOL QUBISHIBSHI. 616160 CLPAIBToUH!  (WedBUlE (LIgalled 6T6lIaI6Ta| LIT6D LITSHEHTEHIH 60
B(HBGID?

a. 40% pure b. 50% pure c.51.2% pure  d.58.8% pure

In an examination, 34 % of the students failed in Mathematics and 42 % failed in
English. If 20% of the students failed in both the subjects, then the percentage
of students who passed in both the subjects was.
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(APP& 10|

@ BpTaled 34% TewIaTHeT HanlBHHHeD, 42% DTEVIOTH6T  SLBIF 605D EID
Camevalenw Hpailert. 20% wrewreuTser SHUTL SHed BFHTeval  SIEWLHBTTHE
aaled @ UTLSHd CaTed oemLbhoeauTseller aldlsb ererent?

a. 44 b. 50 c. 54 d. 56

In an examination, 65% students passed in Civics and 60% in History, 40%
passed in both of these subjects. If 90 students failed in History and Civics
both, then what is the number of students?

am Gxfaled 65% wrewiaiser Glgenwouiweded 60%  TewIeITH6T — eUF6eOTHI
ut_sHed CxTedl oemLbsert. 40% wrewauTser e uTLSHeid BHTFdS
SIMLHSHMT. GorhHd 90 wrewralTser @rewih UTL HHeuld BCHTevel DIHL [HSHTTH6IT
oT6dll60 QIOTHSHID 2 6iT6N  LOTEwT6UTEH6IT6 6160616001 H6N S

a. 600 b. 650 c. 700 d. 750

The numerator of a fraction is increased by 20% and denominator of that

fraction is decreased by 20%. the Fraction obtained is g. What is the original

fraction.
Qmp Ugesdear  srgHurargs  20%  odsfssiubdns.  Sisa@ienL W
ugHwreng 20% GHoBSBILGHBLH. BHemed Henl SHalIELBID dmmm% eT6uTl6v,

WPH6e060 BHHSH 2 6WIenLOUIT6rT LT6T6ID  6T63160T 7
12 16 36
b. = c. = d. =
) 15 55

In an election between two candidates, one candidate got 62% of the total
votes and won by 432 votes. What is the total number of votes casted in the
election?

a0 Caxmpelsd B Gaul umeniseied QBT OTHSH ambGHHeled 62% OCuBH,
432 aMEGH6T  alHHWLTFSHHe0 OGeuBpl  QuBmnT.  eeled, uHleumer GOTHS
QUTE(FHB6ITGOT  6T600T 6001 b6 B

a. 684 b. 1116 c. 1800 d. 504
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